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3. Assertion (A) : In an household electrical
circuit fuse is a safety device and is
connected in series.

Reason (R) : Electrical fuse is prepared by
the material having very high melting point.
So it can allow very high voltage/current in
the household electrical circuit.
Considering the above
1) Both A and R are true and R is the correct
explanationto A
2) Both Aand R are true but R is not the correct
explanationto A
3) Alistrue but Ris false

4) Ais false but R is true

4. Out of the following the best safety measure
against lightning strikes is
1) Stand on the terrace of a building
2) Take shelter under a tree
3) Runacross an open high ground
4) Take shelter inside a metal box

5. Consider the following statements

a. The efficiency of Carnot’s engine is 100%.

b. Spark plug present in both petrol and
diesel engines.

c. Carburetter is used to mix air and petrol
in proper proportion.

d. Fuel injection pump is present in diesel
engines.

e. Piston converts linear motion into
rotational motion.

The correct statements are
1) b,cande 2) a,candd
3) c,dand e 4) a,bandd

6. A student has been given a project to prepare

an astronomical telescope, she has to select

two lenses of type
1) Concave lenses of different focal length
2) Concave lenses of same focal length
3) Convex lenses of different focal length

4) Convex lenses of same focal length
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7. Mirages are formed due to the natural

phenomena
a. Earth’s terrestrial heating
b. Reflection of light
c. Refraction of light
d. Diffraction of light
e. Total internal reflection of light

2) a,bandd

1) a,cande

3) b,candd 4) c,dand e

8. A pendulum is moving in a periodic motion
with period T. If its length is increased by

4 times, then its period
1) Increases by 4 times
2) Increases by 2 times
3) Decreases by 4 times

4) Decreases by 2 times

9. Ifthe distance between two bodies is reduced
to half of its initial value, then the gravitational

force between themiis
1) Reduces to half of its initial value
2) Increases by 4 times of its initial value
3) Increases by 2 times of its initial value

4) Decreases by 4 times of its initial value

10. The evidence cited by the scientists for the

continued expansion of universe is
1) Movement of asteroids in space
2) Occurrence of supernova explosion in space
3) Observation of red-shift phenomena in space

4) Appearance of flying saucers

7. 300N YVOFINED TOTLITOR @zmas
Ddsmwmb

a. BACH hed; WAL
b. 897 TETOR
c. BUER T3P

d. B3¢88 TSR

e. BIIT TOTRLT $oI0T JEFOR

1) acadD e 2) a,bxH d
3) b,cm?gd 4) c,dméie

8. 2.0 HTBReVFR) T &FTIFS VTINYY
WO IT. QWS YVTTR, 4 Tk, Bedwen, O[3
BRI WTHOIN

1) 4 Doy, SRS

)

2) 2 Tu BRI

3) 4 Te) IRFOIRHIT
4) 2 Ty, BRBOCIPOIT

9. ATW TWNY TR woscamﬁl SRTOT
WOTTW WY YL, & TWRY IR
T WOR)

1) Se0IT WTF BT

2) BRTOVTBEOT ToLy, Be), BLYHID

3) mw@sdioé DT Ted) ézsgmgcﬁ

4) BRTOTTIOZ T, TeD, TR BRI

10. 237 dToZTIN & 3T aowcﬁ% amgzgﬁe;e
e W 5

1) $%30Y DINTNY WO

2) ©E30Y FORNADR AT RERCT i@ewﬂ%

3) ¥53TY Foxmy) I DT BRIBIY,
NIRRT

4) TOWB/ BEND T10eWTTONIHT



SAT(K-10)

11.
3%

r s
Displacement1
(meters)

05 19 15 2 2530 -
1 distance (metres) —>
2

3

4

v

This diagram represents displacement-
distance graph of a wave travelling in a
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12. After firing a bullet of mass 8 g, it is moved
with a velocity of 4 ms~'. The kinetic energy

gained by this bullet is
1) 64 Joule
2) 6.4 Joule

3) 0.64 Joule

= = = ~

4) 0.064 Joule

13. The stages of evolution of sun like stars in
proper order is

1) Protostar-Steady state-Red giant-Planetary
nebula-White dwarf

2) Protostar-Red giant-Steady state-White
dwarf-Planetary nebula

3) Protostar-Planetary nebula-Red giant-Steady
state-White dwarf

4) Protostar-Steady state-Red giant-White

dwarf-Planetary nebula
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14.

15.

16.

CHEMISTRY

Elements belonging to different groups of the

periodic table are given below. If the element

X forms a Chloride whose formula is ‘XCL,’

then such ‘X’ belongs to the group whose

representative element is
1) Al

3) Mg

2) Na
4) Si

The following colours produced by the
universal indicator paper at pH values are
arranged in its ascending order. The correct
option is

a. Green

c. Dark purple
e. Orangered

b. Darkred
d. Greenish blue

0O DO Q
oo oTo

The chemical reactions and its corresponding
observable features are matched below. The

correct option is

a. Change in temperature i. Magnesium reacting

b. Evolution of a gas iil

c. Formationof a iili.

with dilute sulphuric
acid

Potassium iodide
reacting with lead

nitrate

Sulphurdioxide gas

precipitate reacting with acidified
potassium dichromate
solution
d. Change in Colour iv. Zinc granules reacting
with dilute sulphuric
acid
1) a —iii, b—iv, c—i, d—ii
2) a—iv, b—i, c —ii, d —iii
3) a—i, b—iv, c —iii d—ii
4) a-—iv, b —ii, ¢ — iii d—i
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17. Observe the following chemical equation and

18.

19.

20.

the related Analogy. The correct alternative
that suits the analogy is
H,S + Cl, » S + 2HCI

Substance reduced : oxidising agent : : : Cl,.
1) HCI 2) H28
3) S 4) ClI 5

Identify the trend of elements along a group
of a periodic table shown below.

A. The electropositive character of elements
decreases.

B. Theelectronegative character of elements
increases.

1)
2)
3) Aistrue and B is true
4)

A is false and B is false
A is true and B is false

A is false and B is true

Assertion (A) : The flowers of Hydrangea plant
turns to pink in the presence of potassium
hydroxide.

Reason (R) : The flowers of Hydrangea plant
are usually pink which turn blue in the
presence of a base.

1) Aisincorrect and R is correct

2) Both Aand R are correctand R is the correct
explanation of A

3) Ais correct and R is incorrect
4) Both A and R are incorrect

The solution in which an immersed
glass exhibits apparent disappearance is a

mixture of

1) Hydrogen fluoride and Acetic acid

2) Hydrofluoric acid and Sulphuric acid
3) Con.HCland HNO3 in the ratioof 3: 1

4) Acetone and Chloroform in suitable

proportion
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21. The following substances are arranged in the

increasing order of their pH values. The
correct option is

a. Tomato juice

b. Tooth paste

c. Saliva (after meals)
d. Coffee

e. Blood

1) b e a d
22b e ¢ d a
3y b a ¢ e d
494 b d e ¢ a

22. The law that explains the death of deep sea
fishes when suddenly brought to surface is
A. Charle’s law
B. Graham’s law.
) Only A
2) OnlyB
3) BothAand B
4) Neither AnorB

23. Steps of an activity for boiling under reduced
pressure are jumbled below. Correctly
arranged option is

a. Cool the flask over running water from a
tap carefully.

b. Water inside the flask starts boiling again.

c. Take a cup of water in a conical flask.

d. Gases in the flask are removed from the
steam produced.

e. Boil the water without closing its mouth
for 3 minutes.

f. Close the flask with a rubber cork.

1)c a e b f d
22¢c e d f a b
3)a ¢ e f b d
49 e d c b a f
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24. Assertion (A) : In the manufacturing of
common sugar, the syrup obtained does not

have any colours.

Reason (R) : Coconut shell charcoal is used
to give colour to the syrup.

1) Both A and R are incorrect

2) Aliscorrect and R is incorrect

3) Both A and R are correct

4) Aisincorrect and R is correct

25. Silicon compound that is used as an abrasive

for cutting and grinding glass is
1) Sodium silicate
2) Aluminium silicate
3) Silicon carbide
4) Sodium oxide
26. The correct option about the following
statement is

A. Gallium sheets are used more than

Gallium wires.

B. Gallium exhibits ductility property but not

the malleability.
1) Aand B are true
2) A and B are false
3) Aistrue and B is false

4) Ais false and B is true

10
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BIOLOGY

27. No urination due to shortage of water in the

body is a typical symptom of this disease

1) Typhoid
3) Dengue

2) Malaria
4) Cholera

28. Match Column -1 and Column —Il and identify

the correct answer :
Column - |

A. Thrombocytes l.
B. Neutrophils 1.
C. Erythrocytes .
D. Lymphocytes v.

V.
1) A=1ll, B-V,
2) A-1l, B-1V,
3) A-V, B-Il,
4 A-IV, B-l,

Column - I
Phagocytosis
Releases chemicals
Produces antibodies

Clotting of blood

Supply of oxygen
C-1l, D-1
C-1I, D -1l
c-1Iv, D-I
CcC-V, D-1l

29. Study the diagram below and select the

correct labelling.

1) A) Epidermalcells
C) Guardcell
2) A) Guard cell
C) Epidermal cells
3) A) Stoma
C) Chloroplast
4) A) Chloroplast
C) Epidermal cells

B) Stoma

D) Chloroplast

B) Stoma

D) Chloroplast

B) Epidermal cells
D) Guardcell

B) Stoma

D) Guardcell
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30. The blood vessel that begins and ends in

capillaries
1) Renal vein

2) Renalartery
3) Hepatic artery
4) Hepatic portal vein

31. Assertion (A) : The sympathetic nervous
system prepares the body to meet any

emergency situation.

Reason (R) : The sympathetic nervous system
is stimulated by the hormone oxytocin during

emergency situation.

Select the correct option from the given

alternatives.

1) Both ‘A’and ‘R’ are true and ‘R’ explains ‘A’

2) Both ‘A’ and ‘R’ are true but ‘R’ doesn’t
explain ‘A’

3) ‘A’istrue and ‘R’ is false

4) ‘A’ is false and ‘R’ is true

32. Which of the following statements are correct ?
A. Tapeworms are hermaphrodites and
undergo self fertilization.
B. Earthworms are hermaphrodites and
undergo self fertilization.
C. Tapeworms are hermaphrodites but
undergo cross fertilization.
D. Earthworms are hermaphrodites but
undergo cross fertilization.
1) ‘A’ and ‘B’ only 2) ‘A’and ‘D’ only

3) ‘B’and ‘C’ only 4) ‘C’and ‘D’ only
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33. The rate of transpiration in plants is high in
the following situation :
1) Cool, humid and windy
2) Hot, humid and dry
3) Hot, dry and windy
)

4) Hot, humid and windy

34. Suppose a person wears a convex lenses for
proper vision, where does the image of the
object formed in his/her eye when he/she not
using it ?

1) Behind the retina

2) On the yellow spot
3) Infront of the retina
4) On the blind spot

35. It is considered as a living fossil and
connecting link between annelids and

arthropods
1) Lungfish 2) Peripatus
3) Platypus 4) Echidna

36. Read the following statements :

A. ltforms athick, tough barrier and protects.
the underlying tissues in the skin.

B. Whenitis presentin sense organs contain
receptor cells.

C. ltalso helps in absorption of nutrients.

D. When it is present in glands helps in
secretion.

Which one of the following represent the
above mentioned characteristics ?

1) Epithelial tissue
3
4

Muscular tissue

)
2) Connective tissue
)
) Nerve tissue
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1) DRYZ Qe

3) TRUIF

2) daméém@
4) 3T,

36. 31 IENT TeLINTTY, N
A. B BHERY I, IENTLT WOMRoINTY,
T3 B BT Fpdonod 30T IRWIT.
B. tpgeoRobneQmon, Q5% mywE dee3nd,
iclelal~g
C. RpeITPo3NY LedIoDYOBR BT YW
0% [RRIT.

D. RoRnYOmR FNIOHY TToH [IEIT.
e BROAT MV N, 8 FENT OIS
BOMRO3R) TBAREIT ?
1) ON-BeTF oMo
2) BOC3REET YOO

3) m@lodsa 0MO3

4) I ©OMoo3



SAT(K-10)

37. Colour blindness is more common in men

than in women due to
1) Dominant genes of such traits are found on
‘Y’ chromosome
2) Dominant genes of such traits are found on
‘X’ chromosome
3) Recessive genes of such traits which occur

on the ‘X’ chromosome

4) Recessive genes of such traits which occur
on the Y’ chromosome

38. The crop that would require minimum

39.

40.

quantity of urea of NPK for its growth
1) Blackgram
2) Paddy

3) Sugarcane
)

4) Groundnut

Read the following statements and select the
correct option.

A. Wind pollinating flowers need to produce
more quantity of pollen grains

B. Seeds from cross pollinated flowers
produce weaker and less healthy plants

‘A’ is false ‘B’ is true

)

2) ‘A’ is true ‘B’ is false
) Both ‘A’ and ‘B’ are true
) Neither ‘A’ nor ‘B’ are true

Protein catalysts of chemical reactions in
biological system

1) Hormones
3
4

)

2) Vitamins
) Enzymes
)

Both hormones and enzymes
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HISTORY & BUSINESS STUDIES

During the Mid 18" C

41. The British Victory in the Battle of Plassey
implied
1) Mir Kasim became the Nawab of Bengal
2) Robert Clive introduced the dual government
3) Foundation of the British empire in India had
been laid

4) All Indian rulers adopted modern British
military strategies in later wars

42. Find out the correct statement/s with
reference to Anglo-Mysore wars

a. Haider Ali crowned himself as the ruler of
Mysore.

b. Tippu rejected the subsidiary alliance of
the British.

c. Rockets (missiles) were extensively used
by Tippu and Haider.

d. The Marathas and the Nizam of Hyderabad

supported Haider and Tippu in the wars.
1) a, ¢, and d only 2) bandc only

3) aanddonly 4) b, candd only

43. Choose the correct sequence to indicate the
following statements as True (T) or False (F)

During the Middle of 19"" C

a. Indian handicraft products lost markets
outside India.

b. Industrial capitalism made India rich.

c. Feudal system in Indian agriculture was
encouraged under trade capitalism.

d. Large cities and towns sprang up in India
1) F.T.T.F. 2) T.F.T.F.
3) T.T.F.F. 4) T.F.F.T.
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44. Match the following :

44, BROVY W3OV :

A. Samvad Kaumudi i. Swami A. ZomE P=nd i m“a:
Vivekananda N
B. Satyartha Prakash ii. I\Bllrs. Atnnie B. :333515? T3 ii. en3Rou®
C. Ghulamgiri i R:js:;m Mohan C. oo i RezRO0s
Roy BRI o
D. New India iv. Dayanand D. &lp; @oBoi® iv. BosEen
Saraswathi xoZ2
v. Jyothiba Phule V. ERedw FHd
1) A—iii, B-iv, C-v, D-ii 1) A—iii, B-iv, C-v, D-i
2) A-ii, B-iii, C-iv, D-v 2) A—ii, B—iii, C-iv, D-v
3 A—iv, B-v, C-i, D — iii 3) A—iv, B-v, C-i D —ii
4 A-v, B-i, C-ii D-iv 4 A-v, B-i, C-ii D-iv

45. Find out the incorrect statement about

consequences of |

War of Indian

Independence.

45. ITIT TFWo TOMOTIT TOMWINOR
BoWORATOS, B3 FSNT ST RevE TN ?

1

éﬁi QOR3P FOBIOD @%@ BRIRPOR

1) Rule of the East India Company ended 2) (T LT AFOFTT 6T SVFN 29T

2) India came under the direct rule of the British 3 TR WFPN DY 20w JONTTI),

Government SNOTNR BT
3) The Doctrine of Lapse was retained 4) DBREOOIT TOTVEIOID FTHECTEBODT,
BLOTBRATIDT

4) Queen Victoria issued a Proclamation

46. In the early 20'™"C. 46. 20 3¢ ISTRT RRTO PNTEY

BIHES (A) 1 ROIT FINW Freodown
TIIoN WPF D BROOB.

BHPS (R) : 85 §rR0dne BOTm CRenesy
Reosn® FOTTY LUTA3RCNATTH).

Assertion (A): Indian handloom industry
made a steady progress.
Reason (R) : These industries used flying

shuttle in the weaving process.

‘A’ is true but ‘R’ is false

A HO STS R 3T

2) ‘R’is true but ‘A’ is false 2) ‘R @O ©TT ‘A=)

3) Both ‘A’and ‘R’ are true and ‘R’ is the correct 3) ‘A ‘R HTEe FO, W RAI
explanation of ‘A’ TOOIT NWTFBCIPNT

4) Both ‘A’ and ‘R’ are true but ‘R’ is not the 4) ‘A DH R HTBHL 70, s8R A

correct explanation of ‘A’
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47. Arrange the following events in chronological

order.
a. Arrival of Simon Commission
b. Celebration of Poorna Swaraj

c. Kheda Satyagraha

d. Withdrawal of Partition of Bengal
1) a,d, b, c 2) d,c,a,b
3) b,c,d,a 4) a,c,d, b

48. Which of the following statement/ is/are true

regarding the I.N.A. and S.C. Bose ?

a. S.C. Bosetook over the leadership of the
I.N.A. in Tokyo

b. The I.N.A. captured Mowdak (near
Chittagong) during its military operations
against the British

c. Provisional Government of Free India
was setup in Singapore in 1943

d. The British Government tried and
punished the captured officers of the
I.N.A.

1) a, bandd are correct
2) bandd are correct
3) b andc are correct
4) aandb are correct

49. Arrange the shaded regions shown on the
map of India in chronological order of their

merger with the Indian Union.

1) L L IV,
3) 1L L1V

2) 1, 1, IV, 1
4) v, 1L,
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47. 3

a.
b.
c
d.
1) a,d, b, c
3) b,c,d,a

NS PRI, UORTHTY weed !
ﬁémaf 28RENT ENHN

FperorBoens DNT $8ors

. SBewe SN

WOTRER . DPREIODTY, STBRATHTD

2) d,c,a,b

4) a,c,d, b

48. TILOJEWOT, WRLET® T8 N.QF°.Q.01
TOWORATOZ O30T IewF/Neh FOOPNZ /T ?

a.

1) a, b= d =
3) b3 cxO

TOPRTEBEOR, BRETFTITY R0.07°.0.13
TOCHIZTR, $300303ReTY [WABRHOT

. WIMRONTR FWCTRTHT SPRT gzswd?bq

D.OT.0. WHICRODNT HOL0 BHTTY
TITREROT

TB0Z ;03T TwIOF Brer T, 1943 S
2A0TRIPTTY 0.98°.. m@&a)so

. D.ATRE WORITE FeTo @@ﬁam?woel

DUT FRFS NDTHRRTIAL 88 AeRB
2) baa d=o
4) awd bzo

49. (RTT FFCHQ HepNATHT (Shaded) Tdeanss
TS WIRWTY DOIRROT FLRAERY,

1) L LIV,
3) UL,V

2) 1, 1, 1V, 1l
4) IV, I, 11, 1l
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50. Assertion(A): The East and the West
Germanys were reunited in 1990.
Reason (R) : Communist Government
Collapsed in the U.S.S.R. in 1991.
1) Both ‘A’ and ‘R’ are correct and ‘R’ is the
correct explanation of ‘A’
2) Both ‘A’ and ‘R’ are correct but ‘R’ is not the
correct explanation of ‘A’
3) ‘A’istrue but ‘R’ is false
4) ‘R’ is true but ‘A’ is false

51. Match items in Column - | with appropriate
items in Column - Il by selecting the correct
code, given below :

I Il
. The League of Nations i. Mao-Tse-Tung
ii. Woodrow Wilson

. Perestroika

a

b. 5YearPlans
c iii. Joseph Stalin
d

. Cultural Revolution iv. Benito
Mussolini
v. Gorbachev

1) a—ii, b—iii, c—Vv, d—i
2) a—iii, b-—iv, c —ii, d-v
3) a—ii, b-iv, ¢ — iii, d—i
4) a—-iv, b-i c —iii, d-v

52. Which of the following statement/s is/are

correct, regarding functions of banks ?
a. Foreign exchange transactions are

conducted

b. Only private business transactions are
carried out

c. They formulate common monetary policy
for all banks

d. They provide safe deposit lockers

1) a,candd 2) bandc

3) aandd 4) b,candd
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1) A BH R SCER FO DR R A S
BOO3RT DHTFEOIONGS

2 ‘AN RH R 20Ee T ez R A I
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51. 300-138 Daﬁo&:ﬁ@éﬁ)& 00 - IBYHR KOcsRT
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53. Regarding Life Insurance

Assertion (A): The premium is paid in
lumpsum, at the time of purchasing the policy,
by an employee.
Reason (R) : It provides tax-relief benefits
for the policy holder.
1) ‘A’is true but ‘R’ is false
2) ‘A’is false but ‘R’ is true
3) Both ‘A’ and ‘R’ are correct, but ‘R’ is not
the correct explanation of ‘A’
4) Both ‘A’ and ‘R’ are correct and ‘R’ is the
correct explanation of ‘A’

54. Examine the following statements and select

55.

the correct option :

A. An entrepreneur’s main objective is to
provide service to the public

B. There is no risk of loss, since his
business is protected by the Government

‘A’ is false, ‘B’ is true

)

2) ‘A’is true, ‘B’ is false
) Both ‘A’ and ‘B’ are true
)

Neither ‘A’ nor ‘B’ is true

In the wake of globalisation

Assertion (A) : There is a steady rise in
unemployment, in the developed countries
like the U.S.A.
Reason (R) : Out sourcing of employees from
the developing countries helps the MNC’s in
maximising the profit.
1) ‘A’ and ‘R’ are true, and ‘R’ is the correct
explanation of ‘A’
2) ‘A’and ‘R’ are correct but ‘R’ is not the correct
explanation of ‘A’
3) ‘A’is true but ‘R’ is false
4) ‘R’is true but ‘A’ is false
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GEOGRAPHY AND SOCIOLOGY

56. The Indus River flows between the ranges of
1) Pir Panjal and Mussorie
2) Ladakh and Zaskar
3) Pir Panjal and Zaskar
)

4) Ladakh and Mussorie

57. Match List — | (States) with List — Il (Caused
for land degradation). Select the correct

answer using the codes given below :

List-1 List -1
(States) (Caused for land
degradation)
A. Jharkhand and i. Over
Chhattisgarh grazing
B. Gujarat and Rajasthan ii. Floods
C. Punjab and Haryana iii. Mining
D. Assam and iv. Over
Arunachal Pradesh irrigation
1) A—iii, B-i|, C-iv, D —ii
2) A-iv, B-i C —iii, D—ii
3) A—i B —ii, C—iv, D —iii
4) A-ii, B-iy, C-i, D —iii

58. One of the following is the correct order of
major irrigation projects in India from North
to South

1) Rihind, Kosi, Hirakud, DVC
2) Kosi, Rihind, DVC, Hirakud
3) Hirakud, DVC, Rihind, Kosi
4) DVC, Kosi, Hirakud, Rihind
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D&OTF, BHCR, LHTORT, BN



SAT(K-10)

59. Uttar Pradesh stands first in the production
of wheat because :

i. Itreceives less than 50 cm of Rainfall.

ii. Ithas well drained plain area and fertile
alluvial soil.

iii. Ithas 20°C - 32°C of temperature.

iv. It has excellent canal irrigation system.

Select appropriate statements.
1) i, ii and iii

3) i, iii and iv

2) i, iiiand iv

4) i, iiand iv

60. Identify the descending order of Land Use
Pattern in India in the year 2007

A. Forestarea
B. Netsown area
C. Areaunder non-agricultural use

D. Barren and waste land
1) B,C,AandD
2) B,A,CandD
3) BA,Dand C
4) B,D,Aand C

= T = ~—

61. Identify the correct matching pairs :

A. Siderite - lIronore

B. Pyrolusite — Bauxite

C. Biotite — Manganese

D. Lignite — Coal

1) Aand B 2) BandD
3) AandD 4) AandC

62. Connecting of Delhi, Mumbai, Chennai and
Kolkata by 6 lane golden quadrilateral

highway started in 1999 by
1) NHDP 2) NHAI

3) CADP 4) CPWD
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63. Match the International Airports on the map
of India (i, ii, iii, iv) with their respective
names :

A. Raja Sansi International Airport

B. Anna International Airport
C. Subhashchandra Bose International
Airport

D. Rajeev Gandhi International Airport

1) A B — iii, C-—lv, D —ii

2) A —iii, B —ii, C—-liv, D—i

3) A B —iii, C —ii, D—i
4) A—iii, B-iv, C—i, D —ii

64. Identify the correct set of major ports along
the East Coast of India

Ennore, Paradeep, Tuticorin, Haldia
2
3
4

)
) Ennore, Vishakapatnam, Tuticorin, Kandla
) Chennai, Ennore, Marmagao, Kochi

) Ennore, Tuticorin, Kochi, Haldia

65. Three iron and steel plants at Kulti, Hirapur
and Burnpur were merged together and are
now known as

1) VISCO 2)
3) BISCO 4)

IISCO
DISCO

66. Information regarding the Earth Surface is
collected by

1) Global Information System
2)
3) Advanced Technology
4)

Geographical Positioning System

Remote Sensing Technology

22

63. LRTIT FEODY TS woédcaogco& QTR
Qmmﬁ@a’» (i, ii, iii, iv) NOQ%#?S’D Srcndnonn
o*g.faoﬁn)a

To% TR @oédm%@o&a RPN DD

sy @osdo—a@&coﬁ W NSplac)
wmw‘"’ Llelat zS:aene @osdmﬁco& WO
dues

??J
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Q. T MeOR WOBTTIYEOD DTBE ATYED
=

1) -1, R —iii, R —iv, & —ii

2) & —iii, 2 — i, 2 —iv, & —i

3) @ —lv, 2 — i, A — i, & —i

4) & —iii, D —iv, A —i, & —ii

64. 03T T[PTE TOUXY SCTTYTOT &0
WOTTONE FOSRT THOTRY, THTOSA.

1) OBRLT’, TWTVRET, BRHBR, BY 03P
2) @o&ra ¢TF, DTVADTLO, BRWRR, F0F
3) 83,y PJRLT, mmwﬁmm 3028
4) @draecs BRDDDA, 30, ©YCI®

65. 39, WCTVIYT DI WHFFYPTTODT TR
B0 1T YOI %ma%ﬁeém& WEBRARBONT)
R 0T, &en 330 eRNG.

1) Q.20.0%.2.%.

2) 20.20.05.2.8.

3) Q.0.QF 4) 8.20.0%°.2.%.

66. o RRTCHR FCATT SPtICL, VWS TRV
el PSR et
1) s SRk BT
2) FPRReYT TIT FIF
3) wIB B0y
4) TRT FoTeh B0
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67. Name the Constitutional Section which
prohibits the practice of untouchability i.e.,
Untouchability Crime Act (1955)

1) Section—-17 2) Section—-12
3) Section—18 4) Section—19

68. Read the statements and identify the correct
answer :
i. Specialization developing in every field.
ii. Industries have grown in number.
iii. Expansion of Trade and Commerce.
iv. Invest money and gaining a lot of profit.

These are leads to :
1) Division of Labour
2) Discrimination in Labour

3) Formation of Strata in Society
)

4) Division of Class

69. Read the statements and identify the correct
answer :

i. Sometimes it leads to large scale loss
of property and lives.

ii. It become serious challenges for law
and order.

iii. It do not continue for a long time.

iv. Communal and group clashes are some
examples of it.

) Mobs

) Riots

) Collective behaviour and movements
)

W N =

4) Revolution

70. ‘Self awareness, self motivation and mutual
trust to fulfil the economic and social
necessities by efforts and co-operation’ —This
statement refers to

1) Micro-finance activity
2) Women’s self help groups

4

)
3) Women right opportunity
) Representation in developmental projects
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67. ‘wgﬁ@ OTTOFNSG TR (1955)T BHRVS
e"’%ﬁ@ e-.*?aaw%osmaoz 3RTWH TOIT BONPONT
DROPTY, o3}

1) 173 QO
3) 183¢

2) 123 QO
4) 193¢ QO

68. ReoEneRy, Wi THH, BORT LVITRRY, HTHE

. T3e 33T DFeR WO WHSRCIRIBYHTH
ii. %maém%o @KoM BeIdRBRrdIT.
iil. SRIRT =13y Tedey; FeIRw MTRAWIT.
iv. &3 a.uoc.%mecmai:ﬁl 2RTRN éa?g SORNPRHT.
QNS JOFBTDIC ©

1) 3 QP

2) DRIDODY LeT-70m

3) TOWPRT WNE wéw:gp Py

4) IRF VPRI

69. TewInem, L T BOCLOTTIT, LA ¢
i, BORR, BT BTT TRRT B3 Tod Ty
26T TORCHR 0D WREIT.
ii. 9T PIRD =Y mwém;ﬁ noyes
TTRNTLIT.
iil. ¥ AeTrHO FEBOHCRTIWL.
iv. 3eesn NOY DI HOY FREHBRD T
3O NTOTTE.
1) BIOTS
2) TR0V
3) BT [T Y WTIND
)

2

4 é

g

g BHecm b2 TS Jowdcleonn sele
B3, ARORE, Wy ITWONOT SREF NIy
MTRT ORSINCR, FpREPHRT[I’ - 33
TePE03 BOWORATOTT®

1) =pg, mEoTAD 23eDWEITNLD

2) DLIONT AFTOOD ARTND

3) DLTOD BRNY WTTIND

4) @a:m@@@ RBReBINYY FNB0LRNE

)
70. m_@&%ﬁ

el
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POLITICAL SCIENCE AND ECONOMICS

71. Match the List - ‘A’ (Concepts) with List - ‘B’
(Descriptions) and select the correct matched
codes given below.

List - ‘A’ List - ‘B’
(Concepts) (Descriptions)
A. Secular i. Equaldistribution of

National Income

B. Socialist ii. TheHead of the State
elected by people
C. Sovereignty iii. Country free from

internal and external
forces

D. Republic iv. Follow any religion
of people’s choice

Codes:

1) A-ii, B-iv, C—i, D-—ii
2) A—iv, B—i, C—iii, D-ii
3) A—iii, B-iv, C—ii, D-i
4 A-iv, B-i, C-ii, D-ii

72. Which of the following are associated with
UNO ?

a. Franklin D. Roosevelt
b. Veto Power

Common Market System

2 o

Military Alliance
e. New York City
f. British Supremacy

Choices:
1) a,d,f 2) b,c, e
3) a,b,e 4) c,d,f

24

ORIV w00 WREIX
= = =

D)

1. T —A’IS (OBVR) T Bk - ‘B oHY
SYNY (DHTH) AT, YYD, BRORLT
RO0IRT ooy, T2,

wg - ‘A! w% - sBs
(ToBLRNL) (N=THEBR)
A. zsa:%ééesé i Uaééeos: ESTRONT
DD TOWE
B. 35520%00 ii. cm%cs NI
o) b
BRO0T e.-soS%
C. IR ii. ToFPR) 0308 DI
RT[IINCOT MO,
D. risacaz:23 iv. &I 33:@ &3033*033
PR WRTB
&3033&71%
1) A—ii, B-iv, C—i, D —iii
2) A—iv, B—-i, C—iii, D-ii
3) A—iii, B-iv, C—ii, D-i
4 A-iv, B-i, C—ii, D-ii

72. 33 FNTYNSY BRI Dg{'&o:’éﬁ TOWORATS ?

a.
b.
c.
d.
e.

f.

TROFT” B. TRTIL,
NEBRC WPHTT

mmsé SeTHBEY aémgp
SO0 aamé&s
SRR IR

REIT® ITLOTE

63033&71% :

1)
3)

a, df 2) b,c e
a, b, e 4) c, d,f
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73. Choose the correct sequence to indicate the
following statements as True (T) or False (F).

A. In case of Money Bills, the Rajya Sabha
has virtually no powers.

B. The Ministers are individually
responsible to the President not
collectively to the House of the People.

C. The President of India doesn’t have any
power to withdraw the ordinance at any
time after once promulgate it.

Choices:
1) TFF
2) FTT
3) TFT
4) FTF
74. List-‘A’is the list of ‘problems’, List— ‘B’ is
the list of ‘Reasons’ and List — ‘C’ is the list
of ‘Remedies’.

List — ‘A’ List - ‘B’ List - ‘C’
(Problems) (Reasons) (Remedies)
a. Communalism . drawbacks in i. verification

. Corruption

c. Economic

inequality

. Profiteering

bureaucracy

. White collor j.

jobs

. Hoarding k.

. Interests of I

religious

groups

of price index

Lokpal

uniform

civil code

Social

securities

Which one of the following correctly matched

set?
1
2

)
)
3)
)

afl, bhj, cgi, dek
ahj, bfk, cel, dgi
ahk, bej, cfl, dgi
4) ahi, bgi, cfk, del
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73. 33 3IBNT Sevdned O (T) o= 3P (F) Q0w
ODFTHTT WeerrBoby, Gk, IR

A. TeOT0T HRRATA BOWOHATOZ w%;ﬁzSos:a
BRPBe @PTT RRONY.

B. 38¥x02 déoﬁag%mﬁ m%ﬁéoﬁawaﬁ
BTLRTTINTTSODE RRTD TTeEFToN
SResTRENY.

C. TNTofonEy, Wi, JRTRIT Fo3T
OIRRTVE ToTHFTY HoTFO0INT
ea@mm:‘% LTI m%ﬁéﬁ@o TRODY.

e:soﬁaﬁﬁeéa :
1) TFF
2) FTT
3) TFT
4) FTF
74. T — N oHQ BHARY’, Ty ~ ‘B’ oY ‘W
FITLANLL’ DI Ted — ‘C’ dY “VeTEED FNy’.

m&— ‘A @y — ‘B’ sg— ‘c
(Re1A) (Teorisd)  (ATER BR1N)
a. BRCTVTT €. WRTT— i. 3¢3 mwﬁosm«
0% 0DIS TOdewS
BrezBdeeRnd
b z_;;mesmd f. gesma j. SReITOO
JPBON
C. ©QF3 g. ©FH k. BS5es Senos
WITRSS (SR o3
d ooy h. <v8cos . TONRWNT
4peS3R B4 g St

FPTORIYNYY TOSN WRCRATLS MOF)

SRIT ?

1) afl, bhj, cgi, dek
2) ahj, bfk, cel, dgi

4

)
3) ahk, bej, cfl, dgi
) ahi, bgi, cfk, del
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75. Read the following :
A. ltis not aligned to any power blocs.
B. It retains the freedom to take
independent foreign policy.
C. Itjudges an issue on merit.
D. Itis opposed to military alliances.

Which of the following represents the above
characteristics ?

1) Disarmament

2) Opposition to the policy colonialism
3) Coldwar

)

4) Non-alignment

76. Assertion (A) : Deficit finance is indicated
by the negative sign (-).
Reason (R) : In general the expenditure of
the government is increasing more than its
revenue.
1) ‘A’and ‘R’ are True and ‘R’ is the correct
explanation of ‘A’
2) ‘A’and ‘R’ are True but ‘R’ is not the correct
explanation of ‘A’
3) ‘A’is True but ‘R’ is False
4) ‘R’is True but ‘A’ is False

77. The course of evolution of money is depicted
in the following flow diagram. Identify the

correct sequence.

1T — | 2

Copper Coins
Credit Cards
Commodities

a o T 9w

Cheques

1) 1a, 2b, 3c, 4d
2) 1d, 2c¢, 3b, 4a
3) 1b, 2d, 3a, 4c
4) 1c, 2a, 3d, 4b
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75. 3 ISNIYNERY, L.

A. ¥ SRPTe 33 WEBR, BeTTHTNT.

B. 4308 Jdezvon JedoBnEy,  ©RHBOTWN

MBOZ, AR

C. aﬁuﬁﬁeéaﬁa& mmsessox Sp0n  wees
PO ez0TT.
OO BZRWNY TIIN VT BRCTTNT.
FYNT OS= wWoBR) FedT WOBN,
232973 2
1) B%ﬁ;ﬁeﬁdm
2) BPTIVLIT QTREH ed
3) Y3 BT
4) ©OT Jed

(f:lg-p

76. FITRTE (A) : 8pT3CH BrowRR, 900 3,

() CBY TSR,

BZFER (R) : ERRTRN BT STech3os
WTT Segriss T BepNTHS.
1) ‘A R 0B B0 ), R A I

Z003RE HRTBIPNS

2) ‘NI R oTER B0 ©33 R A I
HOIRE HROHCIPAY

3) ‘AFO 5TS RIY

4) R'FO TS A

77. Brozy IWE BROOT BOIHL, 3t SIS BOY
RS SCOTTONG. HOOIRT HCrdohRy, THTHSR.

— | 4

1T | 2

— [ 3

a. TTNT TN
b. 3Rt DT FRH
C. SZyned

d. AR

1) 1a, 2b, 3c, 4d
2) 1d, 2c, 3b, 4a
3) 1b, 2d, 3a, 4c
4) 1c, 2a, 3d, 4b
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78.

79.

80.

Income sources of Central Government are
given below.

a. Internal and Foreign Loans
b. Coins and Mints
c. Disinvestment

Which of the above source/sources is/are the

Capital Receipts of Central Government ?
1) aonly
2) bonly
3) aand conly
)

4) aandb only

Answer the Question No. 79 and 80 based on
following table.

Country | Total National Population
Income
Male | Female
P 10800 635 465
Q 10450 575 375
R 9000 380 220
S 10400 285 515

The country which has high per capita
income is

1) P
3) R

2) Q
4 S

Identify the correct chronological order of
nations which has low per capita income to
high per capita income

1) PRQS

2) SQRP
3) RSPQ
4) QPSR
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78. §0T, AFFOT STORT FeoneR:, 32 IR

QCTRNT.

a. ©$oZ0T T NTCd ON
b. mtaéneéo DIy 308503
Cc. DRRFOH o313

& 2eOTYNYY  BRRYT/BRRYR) §e0T,
00T WOBE STT0NT SRVTNG ?

1) a %2g

2) b Jwg

3) a DB ¢ Jeg,

4) a B bW

33 YN é@c%@ﬁ&d =502 g% :3’0935 79 533_39
80 % YO0

o3e3 WEd caééeo& usxosﬁs
E3TI0

now» 3w

o)

P 10800 635 465
Q 10450 575 375

R 9000 380 220

S 10400 285 515

79. ©8 éas% 3@5:@03:55:4 RBRONTHT m%

1) P 2) Q
3) R 4 S

80. 3R SRTOHNOT ézsgd 3ERTT0H RRODTLT

COFNY XOIRT WRIHIT THDHI2.

1) PRQS
2) SQRP
3) RSPQ
4) QPSR
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81.

82.

83.

84.

85.

86.

MATHEMATICS

The variance of 20 observation is 5. If each
observation is multiplied by 2, then new
variance of the resulting observations is

1) 7 2) 10 3) 20 4) 40

The polynomials (x3 — 1) and (x? +1) are
divided by (x + 1) leave the remainder as
R, and R, . The true statement among the
following is

1) R ,+R,=0
3) 2R, +R,=0

2) R,- R,=0
4) R -2R,=0

In AABC, XY || BC and XY divides the
triangle into two parts of equal areas. The

val eofﬁ is
ue ol Bx

1) J2-1 2) %
2

3) 2 4) 2 +1

If a= /5+2.6 then 1;2&4 =

1) 48 2) 10

3) 5 4) ofs
D 2 B

C 4 A

In the given figure,if AD | BC,AC=4,BD=2,
AB=aand CD=bthena?+b?=
1) 6 2) 8 3) 12 4) 20

If sin x + sin?2 x = 1 then the value of
cos'2x + 3cos'® x + 3 cos® x + cosbx is

1) 0 2) 1 3) 2 4) 3
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neds

81. «aogs_:g TOTOINY
2 007 ™3TR WoHE IO

TR0 TXTeo  NIOR
7 2) 10 3) 20

Ixor Huod 5. &R TS

4) 40

82. (x*-1)33 (x*+1) aoa;mmgne;@ (x+1)
00 NN R, @3 R, 3exnsd Lv9osnIss.
FNSYNYY BOSRT Rewd

1) R +R,=0 2) R,- R,=0
3) 2R +R,=0 4) R -2R,=0

83. AABCO®HQ XY || BC033 XY o3 3pzsaa,
QTT TDTT DRYLEOT QTITOS NLFNATT,

-~ % 8 2
1) J2-1 2) %
2
3) 2 4) J2+1
1+a’
84. a= /5,96 &3 a2
1) 446 2) 10
3) 5 4) o6
D 2 B
85.
C 4 A

é.raégcbw w¥3m9 AD 1BC,AC=4,BD=2,
AB=a 3 CD=b &3 a?+ b? =
1) 6 2) 8 3) 12 4) 20

86. sin X + sin2 x =1 =33
cos'2x + 3 cos™ x + 3 cos? X + cos®x & 253
1) 0 2) 1 3) 2 4) 3
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87.

88.

89.

90.

91.

92.

93.

94.

The area of the triangle formed by the points
(a,b+c),(b,c+a)and(c,a+Db)is
1) 0 2) 1
3) abc 4) a+b+c
2 2

Two lines are to be parallel. The equation of
one of the lines is 8x + 6y = 28. The equation
of the second line can be

1) 3x+4y =14 2) 6x +8y =28
3) 2y + x =28 4) 3y +4x =14
If A and G are AM and GM of two given
positive numbers ‘a’ and ‘b’, then
Ja-+b
\/5 -
1) A+G 2) A-G
3) AxG 4 A+G

If the m™ term of harmonic progression is
“n” and n' term is “m” then (mn)!"term is

!
2) —

mn
4) —1

1) mn
3) 1

The maximum number of non-empty subsets
of set{0,1,2,3}is

1) 7 2) 8 3) 15  4) 16

The number ofarrangements of all the letters
of the word “GOURI”, so that all vowels do
not occur together will be

1) 36 2) 84 3) 108  4) 120

If 2C,:
1) 5

"C,=12:1 then the value of ‘n’ is
2) 6 3) 10 4) 11

There are two temples one on each bank of a
rivers just opposite to each other. One temple
is 40 m high. As observed from the top of
this temple, the angle of depression of the
top and foot of the other temple are 30° and
60° respectively. The width of river is

404/8 40
) —m 2) 5 m

120 80
N N
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87.

88.

89.

90.

91.

92,

93.

(@, b +c), (b, c +a) B (c, a + b) WoTRPOT
YVOERMT SIDBRT DL
1) 0 2) 1
3) abc 4) a+b+c
2 2

QTR TTR03T 1‘)6558@9371@;6:4 %faééd. {RINSY
2000 Beadek ZTewesded 8x + 6y = 28 =3
BRR0T BesdodH FRwesTed

1) 3x +4y =14 2) 6x + 8y =28
3) 2y +x =28 4) 3y +4x =14

A 3 G R aTR B3 JoSART a DIy
b n¢ T=R0ST T3y HEAIT BRFNEET

a5
en \/5 =
1) A+G 2) A-G
3) AxG A+ G

Toeg® 3eRod Mt TT n I nNe IT m

=wd (mn) 3¢ I

’
1) mn

2 —

3) 1 4) -1

{0,1,2,3} Reo% 2RREYR evncen nRog Bosg
1) 7 2) 8 3 15  4) 16

“GOURI” ITTOT g WFTRERY, W0,
R ZON 2R QTTOZ T WRCRTT Wil
QPN
1) 36 2) 84

3) 108  4) 120

nC,:"C,=12:1 &x38 ‘'3 BB

1) 5 2) 6 3) 10 4) 11

. 2,000 BRCH TS ToTDh 9B TTTO W0 0ToN

DT deswaﬂ@ﬁ 20T 5@5’@5:3 S 40 m.
=4 cﬂca‘nﬁcﬂ HeD0T fa?ara ocS: dcﬁwa’;zs 320
DB T wwnm Seclwen emomcs e.—ada’»éémﬁ@

FRown 3005333 60° &3N3, TRMTS FCH WNROY

404/3 40

- —m
1) 3 m 2) 3

120 80
) B 95"
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95.

96.

97.

98.

99,

100.

Out of 30 consecutive positive numbers 2 are

choose at random. The probability that their
sum is odd is

10
29

14
29

15
29

16
29

Statement A : The rationalising factor of
Ya+¥bis Ya— b

The product of (3/;—%)
and (g/a_2+$/b—2+§/£) is (a—b).

1) Both A and B statements are true

StatementB:

2) Both A and B statements are false
3) Aistrue and B is false
4) Ais false and B is true
P
(o) T
Q

TP and TQ are tangents drawn to a circle with
centre ‘O’ £ OPQ =2a, measure of Z/PTO is

3) 2a  4) 4a

If one root of the equation x> + ax + b = 0

is % times the other. Then the correct
relations among the following is

1) 3a®=16b 2) 16a%=3b

3) 3a=16b> 4) 16a=3b>

The mean and mode of a set of data are

respectively 2 n and 5 n. The median of same

datais
1) 9n 2) 7n 3) 5n 4) 3n

The diameter of a metal ball is 3.5 cm. If the

density of the metal is 9.8 g/cm? then mass

of the ball is
1) 200g

3) 1600¢

2) 220g
4) 1760 g

30

95.

96.

97.

98.

99.

100.

EEnnE 30 % ZoLBneY 2 moBdnesy,

om:sdag)%mﬂ 37%:5:%.@%&7@{\:3. 33 xog%mf 3e3

33 mé%omndas petAl A ]
10 14 15
29 29 29

16
29

e A Ya+db © wICTTE Ya-3b -
2ewsB: (Ya-b) 2z (E/?N/b_zﬁ/g)
ne ri:sa@a% (a-b).

1) A B 2T Te9nsd "o

2) AR BOTBR TewINeD 33%

3) Acn O I Bodn IF)

4) A 3F I Bk 7O

P

Q

TP 3% TQ % ‘O 3omIHE T33,

TITINONS. L OPQ =2a ST3 LPTO & ¢3
1

1) —a

2
2t 2a

3) 2a  4) 4a
X2+ ax + b =0 BCITRT 21,000 TRVF)
2%0,053 Yy Sams, ¢n $NSINYY TocinT
TOWOPNTIN IS
1) 3a®=16b
3) 3a=16b?

2) 16a%=3b
4) 16a=3b>

3O TRTROINS TTITO DTy WRVIND FHTwN
2n =23y 5nSNTT, SN B3 RO TR0
1) 9n 2) 7n 3) 5n 4) 3n

2,00 SeeRT WUORS X 3.5 cm T3y WIAT
deexT momE 9.8 g/em? $TT BoRT TFoed
1) 200g 2) 220¢

3) 16009 4) 17609
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Note : English version of the instructions is printed on the front cover of this booklet.




